Rachel Jones

From:

Padgett, Terry <terry.padgett@veolia.com>

Sent:

Wednesday, October 1, 2025 9:00 AM

To:

Mayor Johnny Magee

Cc: Subject: Rachel Jones 13th Ave Sewer

The 8inch sewer main between woodlawn and roberts st on south 13th ave is not flowing. It is concrete pipe. The top of the pipe is gone and we need to replace approximately 816 feet. We can not keep it unstopped because of the sand and dirt that keeps coming into the main.

Thanks



South 13th Ave Proved

Lightsey, Anna <anna.lightsey@veolia.com>

Pricing for various work items related to Sewer Repair on 13th Avenue in the Ferrell Street area

1 message

David Dodd David Dodd david.d@walters.com/

30 September 2025 at 15:22

To: "Terry Paggett terry.padgett@veolia.com" <terry.padgett@veolia.com>, "anna.lightsey@veolia.com"

<anna.lightsey@veolia.com>

Cc: Scottie Walters <Scottie@waltersconstructionco.com>

Terry, Anna,

Per our conversation and site visit for the above project we offer the following estimated quantities and pricing per our current annual bid prices with the City of Laurel.

(Item 3 MM) Select Fill Material – Approx 820' long x 8' wide x 6'2" Average Depth trench line equals an estimated 2,100 cubic yards of fill

Delivered and tailgate dumped to jobsite @ \$8.00/cy = \$16,800.00

(Item 2 S) Crushed Limestone– Approx 820' long x 8' wide x 10" Average Depth trench line equals an estimated 350 tons of Crushed Limestone

Delivered and tailgate dumped to jobsite @ \$65.00/Ton = \$22,700.00

(Item 1 N) Mill Proposed Trench Line - Approx 820' long x 8' wide x 4" Average Asphalt Depth trench line equals an estimated 730 Square Yards of milling area

Milled and placed back into trench line for temporary traffic surfacing @ \$6.75 per Square

Yard = \$4,927.00

(Item 1 H) Base Repair of Proposed Trench Line – Approx 820' long x 8' wide x 4" Average Asphalt Patching Depth trench line equals an estimated 730 Square Yards of Patching

Area Equivalent to approximately 180 Tons of Asphalt Patching 4" thick @ \$190.00 per Ton = \$34,200.00

(Item 1 O) Unclassified Excavation for Base Repair – Approx 820' long x 8' wide x 4" Average Asphalt Patching Depth trench line equals an estimated 730 Square Yards of Patching

Area Equivalent to approximately 83 Cubic Yards of Base Repair Unclassified Excavation

4" thick @ \$140.00 per Ton = \$11,620.00

Total Estimated Cost=\$89,617.00

504h 13th Ave Proved Sales Quotation

PO 25-18607



Job Estimate

rob.mcdowell@eaglepipe.us 450 Industrial Drive, Jackson, MS 39209 Ph: 601-487-7473 Fax: 601-487-7474 QUOTE NUMBER: RM20250930-01 DATE: 9/30/2025 ORDER BY: 10/30/2025 RELEASE BY: 12/14/2025

TO:

The City of Laurel

FOR:

Sewer Line Maintenance Material

Laurel, MS

Lead times on Ford Brass and American Ductile are extended due to market conditions.

Addendum Acknowledged Revision 0 0

Thank you for your inquiry.

We are pleased to quote you the following.

Quote based on takeoff performed to the best of our ability and/or quantity given. This quote should not be deemed as a complete listing of materials to finish the project. Unless other terms in writing, terms are Net 30 days. A service charge of 1.5% monthly will be assessed after 30 days of invoice date. Eagle Pipe and Supply, LLC reserves the right at any time to change terms of payment, withdraw/reduce credit line or require full or partial payment in advance. In the event of default in payment and if same is placed in the hands of an attorney for collection, the account holder agrees to pay all cost of collection, including reasonable attorney's fees. This quote is not a guarantee to sell. Customer must have open credit account and that account must be in good standing. Updated Terms:

* All manufacturer's terms and conditions shall apply. Please advise if a copy of manufacturers terms and conditions are required.

ITE	UNIT	DESCRIPTION	UNIT PRICE	EXT PRICE
6A	feet 8" SDR 35 PVC Pipe	- 14 ft - Gasket	\$ 8.90	\$ 7,476.00
			i	Į.



P. O. Box 1054 Laurel, MS 39441 (601) 399-4943 www.bcleanllc.com

Invoice

Date	Invoice #
10/3/2025	104437

Bill To

City of Laurel
Att: Accounts Payable
P O Box 647
Laurel MS 39441-0647

Job Site

WO# 72598, 72608, 72605, 72637

Job Location:
959 South 13th Avenue

Laurel, MS

Terms	Job Name	P.O. No.	Date of Service
Due on receipt		25-18608	10/2/2025
Quantity/Hours	Description	Rate	Amount
3	WO# 72598 (9-30-25) Provide vacuum truck and operator to clean out manholes and clean lines as directed	197.00	591.00
3	Labor	56.00	168.00
10	Mileage	2.49	24.90
3	WO# 72608 (9-30-25) Provide vacuum truck and operator to clean out manholes as directed	197.00	591.00
3	Labor	56.00	168.00
10	Mileage	2.49	24.90
6	WO# 72605 (10-1-25) Provide vacuum truck and operator to clean out manholes and clean lines as directed	197.00	1,182.00
	<u> </u>		

Subtotal

Sales Tax (0.0%)

Total

Payments/Credits

Balance Due



P. O. Box 1054 Laurel, MS 39441 (601) 399-4943 www.bcleanllc.com

Invoice

Date	Invoice #	
10/3/2025	104437	

Bill To
City of Laurel Att: Accounts Payable P O Box 647 Laurel MS 39441-0647

Terms	Job Name	P.O. No.	Date of Service
Due on receipt		25-18608	10/2/2025
Quantity/Hours	Description	Rate	Amount
6	Labor	56.00	336.00
25	Mileage	2.49	62.25
3	WO# 72637 (10-2-25) Provide vacuum truck and operator to vacuum out manhole as directed	197.00	591.00

Payments can be processed via our website, telephone, or by mail. Visit www.bcleanllc.com. Thank you for choosing B Clean, LLC!

·	
Subtotal	\$3,739.05
Sales Tax (0.0%)	\$0.00
Total	\$3,739.05
Payments/Credits	\$0.00
Balance Due	\$3,739.05